EB-2022-0318: 1: Reena Goyal

COST CLAIM NUMBER 1634

SUBMISSION DEADLINE DATE September 05, 2023

CLAIM STATUS Approved by Finance

EB#

EB-2022-0318: Rates: Distribution: Independent

Electricity System Operator

OTHER EB#S PHASE #*

INTERVENOR

Goyal, Reena; +1 (416) 601-4308

rgoyal@mccarthy.ca

INTERVENOR COMPANY*

Association of Power Producers

of Ontario, Toronto: Cooperative

INTERVENOR TYPE

Full Registrant

HST RATE ONTARIO

13.00

EXCHANGE RATE

COUNTRY

Canada

HST NUMBER

125298802RT0001 No

LATE SUBMISSION ALLOWED

EXTENSION DEADLINE DATE

New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Total Hours	Participant Claim Status
No	,	Goyal, Reena; +1 (416) 601-4308 rgoyal@mccarthy.ca	20,219.09	61.70	Submitted

ATTACHMENTS

Attachment	Type Import Message
CM 213284-573746 Time Report.pdf	Time Docket

APPRO EB-2022-0318 Cost Claim 090520231406.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL DISBURSEMENTS

17,893.00

0.00

TOTAL HST 2,326.09

TOTAL CLAIM TOTAL AMOUNT AWARDED

20,219.09

TOTAL HOURS CLAIMED

61.70

TOTAL HOURS DISALLOWED

REASON FOR DISALLOWANCE **REASON FOR DISALLOWANCE - 2** **REASON FOR DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

APPrO

SEND PAYMENT TO ADDRESS

P.O. Box 756 Toronto, ON M5C 2K1

David Butters, President

and CEO

ATTENTION

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Reena Goyal DATE SUBMITTED September 05, 2023 CASE

EB-2022-0318: Rates: Distribution: Independent Electricity System Operator **COST CLAIM**

EB-2022-0318 : 1 : Reena

Goyal

INTERVENOR NAME

Goyal, Reena; +1 (416)

601-4308

rgoyal@mccarthy.ca

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Goyal, Reena; +1 (416) 601-4308 rgoyal@mccarthy.ca

NEW

PARTICIPANT

No

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Legal Counsel

YEAR CALLED TO BAR*

2005

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE*

18

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Required

LAST CV DATE

September 05, 2023

OVERRIDE HOURLY RATE

HOURLY RATE

290

No

HST NUMBER 125298802RT0001

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

HEARINGS

Hearings Hours

Hearings Subtotal (\$)

Hearings Total Tax (\$) 2,326.09

Hearings Total (\$)

61.70	17,893.00		2,326.09		2	20,219.09
<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
REVIEW APPLICATION AND EVIDENCE Review Application and Evidence	10.50	290	3,045.00	13.00	395.85	3,440.85
DISCOVERY Preparation of Interrogatories	6.60	290	1,914.00	13.00	248.82	2,162.82
Review Interrogatory Responses	11.00	290	3,190.00	13.00	414.70	3,604.70
Technical Conference Preparation		290		13.00		
Technical Conference Attendance		290		13.00		
Technical Conference Follow Up		290		13.00		
ISSUES LIST Preparation	0.50	290	145.00	13.00	18.85	163.85
Attendance at Issues Conference		290		13.00		
INTERVENOR EVIDENCE Preparation		290		13.00		
Interrogatory Responses		290		13.00		
Preparation of Witness(es) for Attend at Hearing	ance	290		13.00		
SETTELEMENT CONFERENCE / ADR Preparation	5.30	290	1,537.00	13.00	199.81	1,736.81
Attendance	16.50	290	4,785.00	13.00	622.05	5,407.05

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
	Preparation of Settlement Proposal	3.50	290	1,015.00	13.00	131.95	1,146.95
	Attendance at Presentation to Panel		290		13.00		
ORAI	L HEARING Preparation		290		13.00		
	Attendance at Oral Hearing		290		13.00		
SUBI	MISSIONS Written Submissions		290		13.00		
	Oral Submissions		290		13.00		
	Attendance at Oral Submissions		290		13.00		
OTHE	ER ATTENDANCE Other Attendance		290		13.00		
СОМ	MUNICATION With Client	5.30	290	1,537.00	13.00	199.81	1,736.81
	With Other Parties	1.50	290	435.00	13.00	56.55	491.55
MOTI	ONS Preparation of Motion(s) Materials		290		13.00		
	Prepare Submissions on the Motion(s)		290		13.00		
	Attendance at Hearing on Motion(s)		290		13.00		
CONI	FIDENTIALITY Preparation of Application for Confidentiality		290		13.00		
	Prepare Submissions on Confidentiality		290		13.00		
	Attendance at Hearing on Confidentiality		290		13.00		
DECI	SION Review	1.00	290	290.00	13.00	37.70	327.70
RATE	E ORDER Review		290		13.00		
	Prepare Submission on Rate Order		290		13.00		
TOTA	L SERVICE PROVIDER FEES Total Service Provider Fees:	61.70		17,893.00		2,326.09	20,219.09

Attachments

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

CM 213284-573746 Time Report.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type</u> <u>Claim Type</u> <u>Import Message</u>

CM 213284-573746 Time Report.pdf
Time Docket
Hearings

Date Tkpr	TKPR Name	Base Amt	Bs Hrs	Narrative
11/10/22 6435 11/16/22 6435	Goyal, Reena Goyal, Reena	\$668.00 \$417.50		Prepare for and participate in meeting with IESO. Participate in meeting with D. Butters and E. Coyle.
04/24/23 6435	Goyal, Reena	\$2,024.00		Read and consider IESO application materials.
04/03/23 6435	Goyal, Reena	\$460.00		Attend IESO virtual application walk-through meeting.
04/26/23 6435	Goyal, Reena	\$2,760.00		Read and consider IESO application materials.
- 1, - 2, - 2	22,400,000000	7 - 7 : 55:55	_	Revise and finalize reporting letter to client summarizing IESO
04/27/23 6435	Goyal, Reena	\$276.00	0.3	application.
	, .			
				Consider and respond to emails from OEB staff (0.1); read and consider
05/04/23 6435	Goyal, Reena	\$276.00	0.3	OEB procedural order no. 1 with reporting email to client re same (0.2).
05/10/23 6435	Goyal, Reena	\$920.00	1	Prepare for and participate in client meeting with D. Butters.
				Read and consider OEB staff and intervener submissions re draft issues
05/12/23 6435	Goyal, Reena	\$276.00	0.3	list; read and consider letter issued by OEB.
				Participate in meeting with client team (0.3); read and consider market
		4		renewal program business case review materials for purpose of
05/19/23 6435	Goyal, Reena	\$460.00	0.5	preparing written interrogatories (0.2).
05/22/22 6425	Co. al Bassa	Ć4.0.4.00	0.0	Dood and associate OFDIs desiring an associate tiple and issues list
05/23/23 6435	Goyal, Reena	\$184.00	0.2	Read and consider OEB's decision on confidentiality and issues list.
				Read and consider supplementary application evidence (annual report and audited financial statements) (1.6); prepare written interrogatories
05/24/23 6435	Goyal, Reena	\$4,232.00	16	on behalf of client (3.0).
03/24/23 0433	Goyal, Reella	34,232.00	4.0	Prepare and revise written interrogatories on behalf of client (2.8); read
				and consider written interrogatories filed on behalf of other interveners
05/25/23 6435	Goyal, Reena	\$3,864.00	4.2	and OEB staff (1.4).
05/26/23 6435	Goyal, Reena	\$368.00		Read and consider interrogatories filed by other interveners.
04/28/23 6435	Goyal, Reena	\$1,104.00		Draft and file intervener request form with OEB.
	•			Read and consider IESO responses to intervener and OEB staff
06/19/23 6435	Goyal, Reena	\$2,852.00	3.1	interrogatories.
				Read and consider IESO responses to written interrogatories of
06/20/23 6435	Goyal, Reena	\$2,300.00	2.5	interveners and OEB staff; email with advice to client team re same.
				Read and consider IESO responses to written interrogatories of
				interveners and OEB staff (2.9); research and draft clarification letter to
05/04/00 5407		4.0=0.00		IESO (0.6); identify and analyze outstanding issues in preparation for
06/21/23 6435	Goyal, Reena	\$4,876.00	5.3	pending settlement conference (1.8).
06/22/22 6425	Caval Bassa	¢2.044.00	2.2	Identify and analyze outstanding issues in preparation for pending settlement conference.
06/22/23 6435	Goyal, Reena	\$2,944.00	3.2	Participate in meeting with D. Butters in preparation for settlement
				conference (1.0); discussion with M. Rubenstein (0.2); read and
				consider IESO supplementary application evidence (jurisdictional scan
06/23/23 6435	Goyal, Reena	\$2,576.00	2.8	report) (1.6).
55, 25, 25	22,400,000000	7-/010100		Participate in settlement conference (6.5); read and consider further
				IESO supplementary evidence and responses to intervener queries
06/26/23 6435	Goyal, Reena	\$6,900.00	7.5	(1.0).
				Participate in settlement conference (4.8); read and consider further
				IESO supplementary evidence and responses to intervener queries and
				engage in numerous discussions and email exchanges with client re
06/27/23 6435	Goyal, Reena	\$5,980.00		same (1.7).
06/29/23 6435	Goyal, Reena	\$1,380.00	1.5	Participate in continued settlement conference.
				Participate in settlement conference (3.7); consider IESO response to
06/20/22 6425	Co. al Bassa	Ć 4 4 4 O O O	4.5	counteroffer and engage in discussions and email exchanges with client
06/28/23 6435	Goyal, Reena	\$4,140.00	4.5	re same (0.8).
				Review and comment on draft settlement proposal; email with advice
07/13/23 6435	Goyal, Reena	\$1,380.00	1 5	to client re same; consider and respond to client queries re same.
07/13/23 0133	Goyal, Reena	ψ±,300.00	1.5	Read and consider other interveners' edits and comments to draft
				settlement proposal; insert and circulate client edits and comments to
07/17/23 6435	Goyal, Reena	\$644.00	0.7	' same.
	•	·		Consider other intervener's edits and comments to draft settlement
07/18/23 6435	Goyal, Reena	\$184.00	0.2	proposal.
				Review and comment on further revised draft settlement proposal from
07/20/23 6435	Goyal, Reena	\$460.00	0.5	IESO.
07/24/23 6435	Goyal, Reena	\$276.00	0.3	Review and confirm version of final settlement proposal filed with OEB.
00/5:/5-		.		Read and consider OEB staff comments re proposed settlement
08/01/23 6435	•	\$276.00		proposal.
08/30/23 64354	•	\$276.00		Read and consider OEB decision and order.
08/29/23 6435	doyai, keena	\$920.00	1	Read and consider final OEB decision and order.